
23 =  

22 =  

21 =  

20 =  

2−1 =  

2−2 =  

2−3 =  

 

Negative Exponents 
 
𝑎−𝑛 is the reciprocal of 𝑎𝑛 . 
 

𝑎−𝑛 =  
1

𝑎𝑛
 , 𝑎 ≠ 0 

 

Exponent of Zero 
 

By definition:  𝒂 raised to the zero power equals 1 𝒂𝟎 = 𝟏 
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Simplify the following: 
 
50 =      (40)7 = 
 
 
(−3)0 =    3(𝑚3𝑛2𝑝)0 = 
 
 

−70 =     
𝑥2𝑦3

𝑥0𝑦3
= 

 
 
2𝑚0 = 
 
 
Fill in the following table.  
Use fractions when appropriate. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Simplify the following with positive exponents only. 

7−3 = 
1

2−2
=   𝑥−3 = 

2𝑚−3 = (2𝑚)−3 = (
2𝑥

5𝑦
)

−2

= 

 



Simplify the following with positive exponents only. 

𝑚−3

4𝑛−4
= 

−50

10𝑛−4
= (

𝑥2𝑦3

𝑥−1𝑦
)

2

= 

 
 
 

          
 
 
 
 
 
 
 
 
 
Rewrite in radical form. 
 

𝑥
1

2             (4𝑚)
1

3   
 
 
 
 

(𝑥3)
1

6          (𝑎3𝑏5)
1

7   
 
 
 
 
 
 
Rewrite with fractional exponents. 
 

√2𝑚        √𝑛23
 

 
 
 
 
 

6 √𝑎 𝑏⁄        √𝑥3𝑦𝑧23
 

 
 
 


